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Series 8000 Frequency Input

Specifications

Frequency Input: Selectable from 50Hz-51.2kHz

Frequency Offset: 34.5% maximum

Card Operating Temperature: (°-60°C

Accuracy: Includes linearity, zero, span drift and offset. 0.25% of full span
Stability: 0.05% FS/°C

Repeatability: + 0,05% of full scale

Response Time: Selectable, 100ms; 300ms; 500ms; 1s, 1.5s

Input Impedance: >50kQ

Threshold Sensitivity Adjustment: 200mV to 1V peak

Input Voltage: 200mV minimum - 100V maximum peak

Overvoltage: 150V indefinite

© For general Series 8000 specifications, see the Series 8000 manual, which

provides general information for the entire series,

Setup Procedure

I Disassemble the Series 8000 unit as described on page 6 of the main manual.
Il Remove the Frequency Input Board.

IIl. Set swiiches as shown in Setup Instructions below,

IV. Reassemble the unit as described in the main manual, pages 4 to 6.

Setup Instructions

Range Selection
F .= maximum input frequenc ¥ = range
F .. =minimum input frequency

Span=Af=F,_ -F_ Offset = J=u

AF

Selting Frequency Range
Find yourE_ on the Frequency Input Selection Chart on page 10-3. Set 51 tothe
indicated position,
in Ti
Check the Response Time Charton page 10-3 and set S2 to the indicated position(s),

sedting the Span

If your range is zero-based (i.e., 0 - 866Hz), the range equals the span. To set span,
refer 1o the Span Switches column of the chart and set 52 and 53 (o the positions
corresponding to the row your range is in, and proceed to Calibration.
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